
 

HONDA RS 125, 1998- 
HONDA NSF 250R, 2012- 

Part Nr. 526 

818270 

M6 x 20 DIN7380 

+ 123120906 
+ M6 DIN934 

 

M8 x 50 DIN6921 

+ 807 
 

8430 
 

8300 

 

M6 x 12 DIN7991 

813LB 
 

M6 x 25 DIN7380 
+ 123120306 

+ 816L + M6 DIN934  
+ LOCTITE! 

 

 

M8 x 35 DIN7991 
+ 123220508 

 

810R 

 

M8 x 60 DIN6921  

+ 123220508 

+ 807 
 

M6 x 25 DIN7380 

+ M6 DIN985 

 

M6 x 20 DIN7380 

+ M6 DIN934 
 

 


